THAEE | BAR - RRRBEHELS

I &S| %585

B R A | BAR - AR

I &R | BLOCEETBARBA

f& R | B=®

HE&EE|3 ﬁﬂh/ 3

B D HET /

¥ B X

S=1/300

METIER L=130.00m

REL O AABEBHEASISF A=264.00m

REL @FKEGAsH 1 13F A=554.00ni

SHEI#R  W=15.00cm  L=50. 00m

SHEIER  W=15.00cm L=69. 00m

AR BEER W=15.00cm L=40.00m

PR EH W=15.00cm L=43.00m

Eoom
SHEI# W=15.00cm  L=130. 00m

TRITMMEREMR IR  L=100. 00m

2 £ W E KX

(e T X PR : No.O~ No.2+2.000)

S=1/30

kX B T ONRABEBHEASISE t= 3cm

£ B I ONIAABEZEHEASI3  t= 4em

¥ BEOBMARIFELEERLLZLOTHY.
BIBEREODECEDEDILDET D,

2 £ W @\

(FE TRXFE : No.2+ 2. 000~No.6+10.
S=1/30

£ B I @FEMEGAsHII3F t= 3em

£ B I O AABEZEHEAI3  t= 4em

¥ BEOBMARIFELEERLELZLOTHY.
BIBEREODECEDEDILDET D,




